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QUESTION 1

In which of the following selections are all of the transformations active?
A. Expression, Router, Joiner

B. Update Strategy, Expression, Aggregator

C. Stored Procedure, Joiner, Router

D. Router, Update Strategy, Joiner

Correct Answer: D

QUESTION 2

Assuming that the Master Pipeline has 5 fields, two of which are part of the join condition and that all fields are
connected downstream to the next transformation, how many fields are in the index and data cache files?

A. 5 fields are in the index cache and 3 are in the data cache
B. 3 fields are in the index cache and 2 fields are in the data cache
C. 2 fields are in the index cache and 3 fields are in the data cache
D. 2 fields are in the index and 5 fields are in the data cache

Correct Answer: A

QUESTION 3

Using the Properties view of a Session task from the Workflow Monitor, the reason for a session\\'s failure can possibly
be determined?

A. True
B. False

Correct Answer: A

QUESTION 4
Please choose one of the following. In a static, non-multi-row lookup,

A. If a lookup search does not find a value in the search data, then the row from which the search is produced is
dropped so a balanced pipeline can be produced

B. If a lookup search finds the search value in the lookup data but discovers that the fields that are being returned from
the search are null, then the row from which the search is produced is dropped so that a balanced pipeline can be
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produced
C. If the lookup finds two records that match the search key, it will return two records
D. None of the above

Correct Answer: D

QUESTION 5

Which of the following are supported file types, from which, an XML definition can be imported? Choose 3 answers
A. XML

B. XSD

C.DTD

D. DSDL

Correct Answer. ABC

QUESTION 6

Given this picture of a PowerCenter Mapping and assuming there is no SQL override in the Source Qualifier:
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Identify all of the true and correct statements listed below. Choose 2 answers

A. This picture depicts a join that will be processed within the Informatica PowerCenter engine
B. This picture depicts a join that will be processed in a database

C. This picture depicts a SQL UNION operation

D. This picture depicts an Informatica Homogeneous Join

Correct Answer: BC

QUESTION 7
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When would a Lookup transformation be classified as active?

A. When the setting for lookup policy on multiple match is Use Any Value
B. A lookup cannot be an active transformation

C. When the lookup is configured to return multiple rows

D. A lookup is always active

Correct Answer: C

QUESTION 8

From within your folder, is it possible to make a non-reusable copy of a reusable transformation for use in a mapping?
A. Yes, by dragging the reusable object into your mapping and unchecking the Reusable checkbox

B. Yes\\' by first clicking the Ctrl key and then dragging the reusable object into the mapping

C. Yes, by first selecting the reusable object and while dragging the object into your mapping, hold the Ctrl key down
D. No

Correct Answer: C

QUESTION 9

Which of these statements on worklets is correct?
A. Worklets can be nested

B. A worklet must be a reusable object

C. A worklet can be executed separately

D. A worklet does not have to contain a Start task

Correct Answer: A

QUESTION 10

Which command line tool would you use to execute a workflow?
A. infasetup

B. infacmd

C. pmcmd

D. pmrep
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Correct Answer: C

QUESTION 11

The Informatics Date/Time datatype supports values up to which level? (choose one)
A. Picosecond

B. Microsecor|d

C. Nanosecond

D. Millisecond

Correct Answer: C

QUESTION 12
Referring to the Sequence Generator transformation, which statement is correct and true?
A. The NextVal column produces the next number in the sequence

B. The cycle check box on the properties tab turns on a feature that randomizes the numbers but still produces a unique
set of numbers for the sequence

C. The default ending value for a PowerCenter 9.x Sequence Generator is 2,147,483,647
D. The Sequence Generator contains a single input port that represents the initial starting point of the sequence

Correct Answer: A

QUESTION 13

Which command line tool would you use to import a workflow into a repository?
A. Infasetup

B. infacmd

C. pmcmd

D. pmrep

Correct Answer: D

QUESTION 14

A Router transformation has the following group filter conditions:

Latest PRO00041 Dumps | PR000041 VCE Dumps | PR0O00041 Exam Questions 5/6


https://www.pass4itsure.com/pr000041.html
https://www.pass4itsure.com/pr000041.html
https://www.pass4itsure.com/pr000041.html

. VCE & PDF https://www.pass4itsure.com/pr000041.html
a 2024 Latest passditsure PR000041 PDF and VCE dumps Download

— PassditSure.com

Group A: InputValue = 2

Group B: InputValue > 1

Default group

The InputValue Is an integer port. Identify which of the following statements is correct. (Choose one)
A. If InputValue = 2, the output will be routed to Group A only

B. If InputValue = 2, the output will be routed to both groups A and B

C. If InputValue = 2, the router will fail, since rows cannot be routed to multiple groups

D. Any positive number values other than 1 or 2 will be routed to the Default group

Correct Answer: B

QUESTION 15

Which of the following techniques could be used to filter data read from a flat file source?
A. Create a valid condition in the Filter attribute of the flat file\\'s Source Qualifier

B. Place a Filter transformation directly after the flat file\\'s Source Qualifier

C. An Expression transformation with an output port\\'s expression defined to filter records
D. An Expression transformation with all of the output port\\'s default values set to blank

Correct Answer: B
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